

$$\frac{\partial^2 Z}{\partial x^2} + 4 \frac{\partial^2 Z}{\partial x \partial y} - \frac{\partial^2 Z}{\partial y^2} = Z$$

$$\text{H: } Z(x, y) = F(x) \cdot G(y)$$

$$\frac{\partial^2 Z}{\partial x^2} = F'' \cdot G \quad \frac{\partial^2 Z}{\partial x \partial y} = F' G'$$

$$\frac{\partial^2 Z}{\partial y^2} = F G''$$

$$F''G + 4F'G' - FG'' = FG$$

$$4F'G' - FG'' = FG - F''G$$

$$(4F' - F)G' = (F - F'')G$$

$$\text{Para } \alpha = -2 \quad \frac{G'}{G} = \frac{F - F''}{4F' - F}$$

$$\frac{G'}{G} = -2 \quad \frac{F - F''}{4F' - F} = -2$$

$$G' + 2G = 0$$

$$F - F'' = -2(4F' - F)$$

$$(D+2)G(y) = 0$$

$$F'' - 8F' + F = 0$$

$$G(y) = k_1 e^{-2y}$$

$$(D^2 - 8D + 1)F(x) = 0$$

$$m^2 - 8m + 1 = 0$$

$$m = \frac{8 \pm \sqrt{64 - 4}}{2} \Rightarrow$$

$$m_1 = \frac{8 + \sqrt{60}}{2}$$

$$m_2 = \frac{8 - \sqrt{60}}{2}$$

$$F(x) = C_1 e^{\frac{8 + \sqrt{60}}{2}x} + C_2 e^{\frac{8 - \sqrt{60}}{2}x}$$

$$Z(x, y) = e^{-2y} \left( C_1 e^{\frac{8 + \sqrt{60}}{2}x} + C_2 e^{\frac{8 - \sqrt{60}}{2}x} \right)$$